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Q.No: 1 . . . . .
2407270 If in 790 years, a radioactive substance becomes, iof the original amount, find its half the

period?

AT 790 st 2% e AT ST 3T S AT F ;B SN ¢, T SHHT I 7t AT
Fiforw?

395 years

395 9§
790 years

790 T§
3160 years

3160 a¥
1580 years

1580 a¥
Correct Ans : A

Subject : Chemistry

Q.No: 2 Y |
2407271 In how much time is the quantities of ***{J Isotope reduced to ry of the original amount?

ooy @a & 2 e H A HY A RS g é N AT STarg?

2.5%10° year

A
2.5%10° 9§
5x10° year
B
5x10° g
7.5x10° year
(o)
7.5x10° a9
6.5x10° year
D

6.5%10° &

Correct Ans : C
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Subject : Chemistry

Q.No: 3 Dependency of half-life of first order reaction is

2407598
TyH P B Sl B or omg B Pl &l
Concentration of reactant
A
SHUPRT Bt WS
Concentration of product
B
IG B Axal
Rate constant of reaction
C
ffrar 9t R fRRi®
Concentration of reactant and product
D

HUPRS SR IeuTg BT ATl
Correct Ans : A
Subject : Chemistry

Q.No: 4 . . . . . .. 1
2407600 Question in English: For a reaction if A + B — product, the rate law is given by r = k[A]z[B].

What is order of reaction?

e T & o0 AT A + B — SeTE, T E @A d e, 1 = KA [B].
AT FTFE FTR?

2.5

2.5
1.5

0.5
Correct Ans : B

Subject : Chemistry

Q.No: 5 1

2407612 After 2 hours a radio active substance becomes pres of original amount. The half life is-

2 HE % G, T XEAT AT T FET AA FT aT & STl | 31E 31T, e -

30 min

30 fiFe

B 40 min



40 fiFe

50 min
C

50 fire

60 min
D

60 fiFe

Correct Ans : B

Subject : Chemistry

Q.No: 6  Choose odd one out:

2407647

fowm &1 g

Presence of impurities
A

it #t IufRufa

Strains in metal
B

41g # 99|

Presence of electrolytes
C

TR B Ut

Coating iron with tin
D

fos1 & a1y @R &1 Aw

Correct Ans : D

Subject : Chemistry

Q.No: 7  In a simple cubic unit cell, atoms at the comers touch each other along the edge. Therefore, the number of atoms present in a simple cubic unit cell is...
2407957

T YR TP e Ja H, ™ TR TRATY] U R B! fHIR G &1 31 TP WIYR 97 Vb HIFPT H IURYA RAISH B Gem Bt 31
a4

1
Correct Ans : D

Subject : Chemistry

Q.No: 8 The IUPAC name of K5[Cr(CN)702(0)9(NH3)] is —
2408860 ‘_[ C\D" - )" 3)]

R, [Cr(CN),0,(0),(NH,)], FT TUPAC =TH § -

A Potassiumammine dicyanodioxoperoxo chromate (VI)



TRRIE Tl SETRIRTRY HiAe (VI)

Potassiumammine cyanoperoxodioxi chromium (VI)

B
TRREHTHT ARSI TRl Hiftmw (vi)
Potassiumammine cyanoperoxodioxo chromium (VI)
C
TR A WSS sifedt wifad (VI)
Potassiumammine cyanoperoxodioxo chromate (IV)
D

TRRIATH FrATRTFEISSsITaE! HiHe (IV)
Correct Ans : A

Subject : Chemistry

Q.No: 9 The IUPAC name for [Co(NCS)(NH3)5]Cly is—
2408862

[Co(NCS)(NH;)s]CL, & fT TUPAC == gram -

Pentaammine (thiocyanato-N) cobalt (III) chloride

A
YTEHA (YENITEAEI-N) PiaTee (1I1) RRTES
Pentaammine (thiocyanato-S) cobalt (III) chloride
B
YeTgHii (YTETEAE)-S) Pialee (111) FARISS
Pentaamine (isothiocyanato-N, S) cobalt (III) chloride
C
YUeTeH (MSHIYTAHEACI-N, S Hialee (III) RIS
Pentaammine (mercapto-N) cobalt (III) chloride
D

Y=TEH (AHBI-N) BHaTE (II1) FARES
Correct Ans : A

Subject : Chemistry

Q.No: 10 In coordination compounds, the hydrate isomers differ-
2408874

I. In the number of water molecules of hydration only

II. In the number of water molecules only present as ligands

IIL. In their coordination number of the metal atom

IyTEHdeE A §, gEse gHagd i 3-

1. ad Jadis 8g o & O[S Bt e o

11. forivg &t @RE Iuld o1d & Srujsit &t e &
111, I Y1 WRATY & 1Y qH-ag T o

Only II
A

Fad 11

Both (I) and (III)
B

(1) 3R (111) @

Both (I) and (II)
c

(1) 3R (I1) St

D Both (II) and (III)



(1) 3R (III) gt
Correct Ans : C

Subject : Chemistry

Q.No: 11 [Co(NH3)5Br] SO4 and [Co(NH3)5504] Br are isomers —
2408880

[Co(NHz)sBr] S04 T [Co(NH3)5504] e Yo & THATHET & -

Linkage
A
e
Geometrical
B
[ Enie
Ionization
C
S
Optical
D
USRS

Correct Ans : C

Subject : Chemistry

Q.No: 12 Theoritically the No. of geometrical isomers expected for octahedral complex [Mabedef] is—
2408887

T FU Y TP IPHAHT IFd [Mabedef] & ol sanfrdia Trmaafad) o) G vvd § -

Zero
A

RIS

30
B

30

15
C

15

9
D

9

Correct Ans : C

Subject : Chemistry

Q.No: 13 Glycinato ligand is-

2408991
NH,
(I) CH, C
*<coo

(1) Bidentate ligand
(11 Two donor sites N and O

TTgEAe s § -



NH,
() CH, :
'<coo‘
() efeedr s

(111} @Y ETaT TATO] N F2r O- T

Only (I)
A

ad (I)

Both (I) and (III)
B

(1) 3R (111) Y

Both (I) and (II)
c

(1) 3R (11) G

All (I), (II) and (III)
D

[l (1), (I1) 3R (II1)
Correct Ans : D

Subject : Chemistry

;24’\35;91942 In the complex [Co(NH3)g]® T the species acting as Lewis acid and Lewis bases are respectively—

it [Co(NH3)g]3+ # TaiTierar Sit havel: ofSH 379e I o[5H &TR ol g cAdgN Il 8. 96 & -

Co2T, NH3
A

Co2T. NH;

NH3, Co
B

NH3, Co

Co37, NH3
C

Co37, NH3

NH3, Co3t
D

NH3z, Co3t

Correct Ans : C

Subject : Chemistry

Q.No: 15 Ore dressing is the process in which -
2409064

3T IUER (dressing) WhH a8 ¢, Torrd-

Ore size is reduced to required size

ITH & AR P AP SR b T Wl §

Drying of ore is takes place

TR B GG el &

(o} Removal of gangue material takes place



Srert uerf #Y gerar wrar @

Treating the ore with alkalies

IRF B &R F AY FUPa BIamn wrar 8
Correct Ans : C

Subject : Chemistry

Q.No: 16 Which of the following is not a refining process?
2409089

FrafifEd & d o e Qed b T8 82

Bayer Process

IR fafty

Van-arkel process

qr9-amdha wfsear

Cementation

GICEi]

Poling

gus fads
Correct Ans : A

Subject : Chemistry

Q.No: 17 1In electrorefining the impure metal is made as-
2409090

faegd e, S UTq Y ST S -

Cathode
A
P
Anode
B
TS
Electrolyte
C
d9ga uded
Electromagnet
D

fagga g

Correct Ans : B

Subject : Chemistry

Q.No: 18 Which of the following factors is not a denaturant of enzymes?
2409324

FrofifEd & I SFE HRS TR § N fAeders T& 82

Heat
A

ST

Mechanical energy
B

I FHet



High salt concentration

C
S 0T Alvscdl
pH 7

D
pH 7

Correct Ans : D

Subject : Chemistry

Q.No: 19  Which of the following is an example of a pentose sugar?
2409325

Fofeid & ¥ B T AHT BT IS8R 87

Fructose

e

Arabinose

Rfer

Glucose

Rcar:]

Galactose

e

Correct Ans : B

Subject : Chemistry

Q.No: 20 The bonds joining monoaccharide units in polysaccharides are called:
2409358

oifeRipTgST § MAIGRISS SbTedl B Sis arel SMTe 1 Hed &:

Glycosidic bonds

A
TIPS ST
Nucleosidic bonds
B
FTATES Sa=A
Glycogen bonds
C
TATEPIS TE=AT
Peptide bonds
D

UPIgS SMa=~HA
Correct Ans : A

Subject : Chemistry

Q.No: 21 All of the following are the examples of thermoplastics, except:
2409360

Tt yrfenfed F IR 7, U & Sifafa:

Phenol-formaldehyde resin

fpta-wrifesergs Yo

B Polythene



affarefi=

Polyvinyl chloride

TS a wRIgS

Polystyrene
RIGISNE]

Correct Ans : A

Subject : Chemistry

Q.No: 22 Which is not the example of addition polymer?

2409400
B ANIHE gD BT IR TR 87
Glyptal
A
frra
Polypropylene
B
uiferdtefi=
Polystyrene
C
it
Polyvinyl chloride
D

EIREIMECENINESS

Correct Ans : A

Subject : Chemistry

Q.No: 23 Amide containing polymer is:

2409401
UHIES W I 5D ¢
Polyethene
A
RIGirgic]
Polystyrene
B
Tefiersia
Terylene
C
e
Nylon
D
Arga

Correct Ans : D

Subject : Chemistry

%"}‘;;42549 Benzene reacts with n-propyl chloride inthe presence of anhydrous AlCl5 to give predominantly :

n-uifie FANISS Fere AICI &1 3uleafa # &5 ¥ fan & 73 30U &ark:

A n-Propylbenzene



n-Tife I5iT

Isopropylbenzene

B
SrgEfa defte
3-Propyl-1-chlorobenzene
C
3-TfAd-1-FARIdshT
No reaction
D

¢ aftfdrar 78

Correct Ans : B

Subject : Chemistry

QNo: 25 The possible isomers of C;H,Cl will be:

2409466
C7H7Cl & erd AT BT
5
A
5
4
B
4
C
3
2
D
2

Correct Ans : B

Subject : Chemistry

Q.No: 26 n-heptane on reaction with chromium oxide, then dehydrogenation followed by cyclization gives -
2409537

-0 B ofieTEs & Ay TR R, R TR0 & 918 RBeggoH eI &I -

1-heptene
A
1- 7
Benzene
B
=i
o-xylene
C
o-Gﬂ's?ﬂ:{
Methyl benzene
D

Afe A==

Correct Ans : D

Subject : Chemistry

Q.No: 27 Br, (Al KOH +2HK

2409541 CH2 = CH2 oaL A NaN B C in reaction C is -




lipAle KOH

CH,=CH,—/— A — .. °B > C wfafEaT aaET # T cFTE
Vis dihalide
A
fa sTSRES
Gem dihalide
B
S TS
Gem dibromide
C
S STEETES
o0 - dihalide
D

Correct Ans : B

Subject : Chemistry

Q.No: 28 ywpat the main product of addition of “Tildon reagent” at o - butylene ?

2409542
Q — S R fevs s % oo o TET 3096 & B 1 =T 6 5 87
2-Chloro-1-nitrosopropane
A
2- FEARY -1- ATFE IO
1-Chloro-2-nitrosobutane
B
1- FARY -2- ATgE IR
2-chloro-1-nitrosobutane
C
2- TERY -1- IR
Butane nitrosochioride
D

R ARINFIRIES

Correct Ans : C

Subject : Chemistry

Q.No: 29 The magnetic moment for Ti2 T, V37, and NiZ* s —
2409674
Ti2+, 3+ T NI+ T Faeh! AT -
4.90
A
4.90
3.87
B
3.87
2.83
C
2.83

D 1.73



1.73
Correct Ans : C

Subject : Chemistry

Q.No: 30y =+15 = is true for the pair -
2409675

u=+15 A & P &-

C0_3= cr3
A

C0_3= cr3

Pe_3= cr3
B

Pe_3= cr3

Pe_3= cr2
C

Pe_3: cr2

MnT2, FeT2
D

MnT2, FeT2

Correct Ans : A
Subject : Chemistry

Q.No: 31 j+2 5pnd Ni2T contain-

2409678

Ti*2 T N2+ H g -

Equal number of paired electrons
A

I FaaEil B G HST

Equal number of unpaired electrons
B

YT SaTeHl @ THM @I

Different number of 2p electrons
C

2p Fa9e @ fim e

Different number of 3p electrons
D

3p sAag B A den

Correct Ans : B

Subject : Chemistry

Q.No: 32 Baeyer's reagent is-
2409708

AR e B-

KMnO, + H,80,

KMnO, + H,80,

B KMnO, + KOH



KMnO, + KOH

KECI’EOT s HzSO_.i

chr207 - H2504

KZCr207 +KOH

KZCr207 +KOH

Correct Ans : B

Subject : Chemistry

Q.No: 33 Lanthanoid contraction implies-

2409709
AYES dpe §
Decrease in density
A
e § St g @
Decrease in mass
B
sora § S Eidt §
Decrease in ionic radii
(o}
smafe B & ot @t §
Decrease in radioactivity
D

YeaefFeaa & s @t 3
Correct Ans : C

Subject : Chemistry

Q.No: 34 N, + 0, = 2NO — Qcal

2746299
In the above reaction which is the essential condition for the higher production of NO-
N, + 05 = 2NO — Qcal
=9 Sififean 7 s NO TIa T & g Far & § -3 uhvifa smawss &-
High temperature
A
| 91
High pressure
B
S G
Low temperature
C
PH dIa
Low pressure
D

PHIE
Correct Ans : A

Subject : Chemistry

Q.No: 35 Under what condition of temperature and pressure the formation of atomic hydrogen from molecular hydrogen will be favoured most-
2746300



OIS BTG & TR BRSIoH & & & a1y 3R 3@ $t HH-3t uRfuforar a9 srgpa gnf-

High temperature and High pressure

A

I 1Y 3R I o

High pressure and Low temperature
B

I 9 3R FH A

Low temperature and Low pressure
C

FW a9 3R FH g

High temperature and Low pressure
D

I 1Y 3R W g
Correct Ans : D

Subject : Chemistry

Q.No: 36  Which one of the following halogen is the most basic?

2746367
& 9 ST SelloH Fatfue &g g2
I
A
I
Br
B
Br
Cl
C
cl
F
D
E

Correct Ans : A

Subject : Chemistry

Q.No: 37 Which of the following after reacting with KI do not remove iodine?
2746368

o # B KL oiftiferar ox SIS gad et B

Cus0,
A
CuS0,
K:Cr,0;
B
KiCr0;
HNO;
c
HNO;
HCI
D
HCI

Correct Ans : D

Subject : Chemistry



Q.No: 38 Which oil is used in the froth flotation process?

2929017
T et i # 5 Ot o1 SuAnT e S 82
Olive oil
A
Eoskakn
Pine oil
B
Cicka k)
Coconut oil
C
T &1 aa
Mustard oil
D

Rl BT Ad
Correct Ans : B

Subject : Chemistry

Q.No: 39 Hexagonal close-packed lattice has the highest packing efficiency of
2929021

SRl Felrel-Uep SiTeft 7 S AT qarar 3
74%

74%

52.4%

52.4%
68%

68%
70%

70%
Correct Ans : A

Subject : Chemistry

Q.No: 40 Which substance is commonly used to neutralize acids in the stomach?
2929022

Te & uftrs 3 Fferg w7 & e SR W g uerd &1 Iua fsar Sar 22

Hydrochloric acid

A
FrEgiTiie efs
Sodium hydroxide
B
WS Fregiaes
Magnesium hydroxide
C

AR FrrgiaEs

Sulfuric acid



TR TS
Correct Ans : C

Subject : Chemistry

Q.No: 41 Creepers are :

2403389
@ g
Plants with weak stems
A
PSR T I D
Plants with hard stems
B
PR a1 ATt W
Plants that take support and climb
C
DY ot TERT A ¥ R T ¥
Plants with no stems
D

R R ara W

Correct Ans : A

Subject : General Studies

Q.No: 42 Who is the writer of the novel ‘The Secret’?

2403434
‘T e’ JUAN & ATS DA §?
Jhumpa Lahiri
A
e e
Alexander Bard
B
JATISY TS
Rhonda Byrne
C
ST AT
Richard Flanagan
D

fad wh=

Correct Ans : C

Subject : General Studies

Q.No: 43 As per the Census 2011, the literacy rate of Madhya Pradesh is higher than that of which of the following states?
2407773

2011 B TIUAT F HTER, T TR P WgRdT R Fofarad & ¥ 5 o 1 gon & sifie 82

Maharashtra
A

HERTY

West Bengal
B

ufym S

Uttar Pradesh
C

IR T



Punjab

LI

Correct Ans : C

Subject : General Studies

Q.No: 44 In which of the following valleys, Sidhi and Shahdol lie?

2407797
Frafafed &  frw ot § Heft ok e a9 82
Kaveri valley
A
PIRY UIEt
Sone valley
B
@ et
Tapi Valley
C
ardt =t
Sambhar valley
D

AR aTét
Correct Ans : B

Subject : General Studies

(22;1’\:)07:8‘1)54 Who out of the following was the Malwan king, who defeated the Hepthalites in the 6% century?
Fffed & & $F Aear & o 3, B ot wded! § fRIAEed B g °T?
Harshavardhana

A
gadq
Samudragupta

B
Rik-EUT)

Pravbhakarvardhana

C
qHTERad
Yashodharman

D
RRIVEE

Correct Ans : D

Subject : General Studies

Q.No: 46 In which year monument of Sanchi was declared World Heritage Site?
2407806

T F IR &I f5g o § fay R wd 9 faar mar ar?

1970
A

1970

1989
B

1989

C 1990



1990

1992

1992
Correct Ans : B

Subject : General Studies

Q.No: 47  Which of the following months are reserved for Fair of Ramlila organized in Bhander Tehsil of Gwalior district?
2407809

wrfereR R B 1idk dedfia & smaifrd efen A Fafifed & @ & d 99 & war 82

January - February

A
SR - TRAd
June- July
B
o - gaTg
October — November
C
SR - TIWR
March - April
D
o - e

Correct Ans : A

Subject : General Studies

Q.No: 48 As per the Economic Survey 2020-21 of Madhya Pradesh, how many total people have been registered jobless in the state in 2020?
2407817

T YR F M1 TFEMT 2020-21 F UK, I5T H 2020 H T b AT SRISFIR Tolipd §T 82
Over 30 lakh people

A
30 @@ ¥ R® Rt
Over 40 lakh people
B
40 9@ ¥ R® AT
Over 50 lakh people
C
50 @G ¥ 3ifiw AT
Over 60 lakh people
D

60 ARG ¥ 3w AT

Correct Ans : A

Subject : General Studies

Q.No: 49 Marco Polo was from which of the following country?

2407835
! dre i # ¥ fra o d e
Portugal

A
e

B Italy



gedt

Morocco
C
AR
Spain
D
T

Correct Ans : B

Subject : General Studies

Q.No: 50 The Vedic Civilization flourished along which of the following river?
2407836

e Taar g 7 ¥ e 7 F e T
Saraswati River
A
Rt T
Godavari River
B
Tieradt 7dt
Narmada River
C
ear ¢t
Brahmaputra River
D

ECLERC
Correct Ans : A

Subject : General Studies

Q.No: 51 During which of the following dynasty the Silk route was established?
2407837

Frofifed & @ frw 43 & IR Wm gl Bt wro @ T ot
Zhou Dynasty

A

EICKIECR)

Tang Dynasty
B

TRT o

Han Dynasty
C

R RIEER

Song Dynasty
D

RickcR)
Correct Ans : C

Subject : General Studies

Q.No: 52 Which of the following terms are present under Indian Constitution?
2408011

YR Wfae™ & ded Fafafed § 3 o 9@ =d Ag 82

A Judicial Review



T weter

Budget
B

qoIc

Zero Hour
(@

AT BT

Money Bill
D

W=t forer

Correct Ans : D

Subject : General Studies

Q.No: 53 Hindola palace’ also called ‘Swinging palace’ is located in which district of Madhya Pradesh?
2941130

fSien wew o e Fear W 71 w1 7, A wew & forw e F fRya 32

Gwalior
A

R

Bhopal
B

o

Raisen
C

A

Dhar
D

4R

Correct Ans : D

Subject : General Studies

Q.No: 54 Bahuti Falls of Madhya Pradesh is situated on which of the following rivers?
2941134

e U BT Sgdl Saudd Fgfrad ¥ § frg 78 w Ryd g2

Tapti
A
qrait
Narmada
B
THa
Kshipra
C
farm
Sellar
D
IR

Correct Ans : D

Subject : General Studies

Q.No: 55 Mohammad Sameer Dad’ from Bhopal is associated from which of the following sports?
2941138



iiard % Aigwe FUR are &1 Yey Fafifea ¥ 3 g Ga 82

Boxing
A

qFpaToit

Chess
B

RiCi |

Cricket
C

e

Hockey
D

Bt

Correct Ans : D

Subject : General Studies

Q.No: 56 Sikh Museum and Research Centre is being built in which of the following cities of Madhya Pradesh?
2941141

e U & FEfiRd § A frg wer & Rig ToreTer Ud ¥ g ST o 381 82

Bhopal
A
urer
Indore
B
H©{R
Jabalpur
C
IR
Chhindwara
D
fRéearst

Correct Ans : C

Subject : General Studies

Q.No: 57 As of June 2024, how many total UNESCO sites are there in Madhya Pradesh?
2941143

T 2024 F IIUR, T W H T o T /A §?

3
A

3

5
B

5

7
C

7

2
D

2

Correct Ans : A

Subject : General Studies



Q.No: 58 1In which of the following year the present Raj Bhawan of Madhya Pradesh was constructed?

2941154

T YR F qAHH IJerHa 1 o Fofafed ¥ @ e o far mr ar

1899
A

1899

1870
B

1870

1910
c

1910

1880
D

1880

Correct Ans : D

Subject : General Studies

Q.No: 59 How many times has the president's rule been imposed in Madhya Pradesh state? (As of June 2024)

2941155

T TR od # et SR AU R T T 87 (S 2024 TF)

Three times
A

@ TR

Two times
B

IR

Five times
C

TiE R

Six times
D

B8 IR

Correct Ans : A

Subject : General Studies

Q.No: 60 The Mahatma Gandhi Award was instituted in 1995 by the Madhya Pradesh government on the occasion of the birth anniversary of Mahatma Gandhi.
2941165
TRTE e YRIBR Pt WITAT 1995 H AL YR WHR GRT HSTEAT TMieft St Tt & AR WR BT TS R
120th
A
120 &
112th
B
112§
125th
C
125 df
119th
D
119 &

Correct Ans : C



Subject : General Studies

Q.No: 61 Two satellites A and B go around a planet in circular orbits having radii 4R and R, respectively. If the speed of satellite A is 3v then the speed of satellite B is:
2405532

G IUE A 3R B HHTT: 4R 3R R BT aTeht qardR Hemsf H U5 Pt uRepar d §1 AfE SUUE A $TRT 3v 7, O SUUE B F WA Srkt-

6v

12v

12v
Correct Ans : C

Subject : Physics I

Q.No: 62 1 1
2405533 If g « = (instead of F) then the relation between time periods of a satellite near earth's

surface and radius R will be-

afg g m%{%&@ﬂ)aﬁquﬁﬁwwmaﬁWRﬁﬁam-

T? « R
A

T? « R?

T « R?
B

T o R?

T2 x R
C

T2 x R

T xR
D

T xR

Correct Ans : B

Subject : Physics I

Q.No: 63 A steel wire can support a maximum load of w before reaching its elastic limit. How much load can another wire made out of identical steel, but with a radius one half
2405563 the radius of the first wire support before reaching the elastic limit.



TF ©IG $T dR, AT TR W1 T Uga I g ifIsdd YR w Bl TR S qahdl 8, al SOt Ty o7 dge ¥ Ugd U el Tt I &1 g3, U5 aR &t 3f1eft Bisam aren garT ar
e Al BRI & [H ?
w

H

S

e

4w

44w
Correct Ans : C

Subject : Physics I

Q.No: 64 Which of following apparatus is used to determine the Young’s modulus of the material of a given wire?

2405564
Frfafed & § S 91 IR T ¢ IR (FRae) 1 3 Aid 19 B & o far s g2
Searle apparatus
A
T U
Sonometer
B
e
Meter bridge
C
e fost
Resonance tube
D

ST e (RS €gH)
Correct Ans : A

Subject : Physics I

Q.No: 65 In which of the following systems will the radius of the first orbit (n = 1) be maximum?

2407133
FrefiRed = # ¥ fbges! uget wef 1 Bedm (n = 1) Fead gefi-
Doubly ionized lithium
A
ST emafe flm
Singly ionized lithium
B
TS Smafe fafam
Deuterium atom
C

Sydiftan uraTg

D Hydrogen atom



IS URHATY]
Correct Ans : A

Subject : Physics I

Q.No: 66 The energy required to excite an electron in hydrogen atom to its first excited state is-

2407134

TIRSIoH TRANY & IAGH Bl Ugeh Iaioids AT 0 Jord B & U HaRIH Jholl 8-

8.5 eV
A

8.5 eV

10.2 eV
B

10.2 eV

12.7 eV
C

12.7 eV

13.6 eV
D

13.6 eV

Correct Ans : B

Subject : Physics I

Q.No: 67 The ratio of the speed of the electron in the ground state of hydrogen atom to the speed of light in vacuum is-
2407135

TIISIoH TRATY Bt STHIA ST H Saidel- @1 a1a g Fafd & Ubr=r & °1d T 3urd 8-

1
2

237

Correct Ans : C

Subject : Physics I

Q.No: 68 Vessel A is filled with hydrogen while vessel B, whose volume is twice that of A, is filled with the same mass of Oxygen at the same temperature. The ratio of the mean
2407157 inetic energies of hydrogen and oxygen is-

TYH ATOAM R T A H gESIH 3R B, fRIT 3aa= A &1 ST 8, H TAM soamH 3 Sfaiie 4 31 3188Io 8RR siferiier @t it Swifelf 7 orgurd 3-
16 :1



1:8
B
1:8
8:1
c
3:1
1:1
D
1:1

Correct Ans : D

Subject : Physics I

(221\:)07:56098 In MKS system Stefan's constant is denoted by ¢. In CGS system multiplving factor of o will be-
MKS (v & ) feed # Wha oladie o ¥ Yeikid giar 81 CGS Red # o &7 aurerse
g -
1
A
1
103
B
103
104
C
104
102
D
102

Correct Ans : B

Subject : Physics I

Q.No: 70 A heater coil is cut into two parts of equal length and one of them is used in the heater. The ratio of the heat produced by this half coil to that by original coil is
2408317

T Elex P HUSTH BT &1 THH TS b SRISR YT F T1e 371 el 81 379 I T &1 giex & Iuai fova S 81 59 aneht pusel & gaq § I pusd! gRT IO~ SSHISHT BT 3 &

2:1
A

2:1

1:2
B

1:2



4:1
Correct Ans : A

Subject : Physics I

Q.No: 71 Three electric bulbs of 200w, 200w and 400w are showing figure. The resultant power of the combination is

2408333
200 W 400 W
| 200 W
&
@
250V
i faggd se@ 200w, 200w 3R 400w RF & RRE T 31 9 Ugad GaoH Bt g ifeR 8 -
200” w 400 W
i
| 20{3 w
fiasice)
w
250V
800w
A
800w
400w
B
400w
200w
C
200w
600w
D
600w

Correct Ans : C

Subject : Physics I

Q.No: 72 The material of fuse wire should have

2408334

WS IR & g BT S ey

A high specific resistance and high melting point
A

% 3= fafkme yferty ok 3= TTemies

A low specific resistance and low melting point
B

T e fafkre gty ok e e

A high specific resistance and low melting point
C

% 3o fafkme uferiy ok ey e

D A low specific resistance and a high melting point



e = fafdre uitrly ok S= e

Correct Ans : C

Subject : Physics I

Q.No: 73 In charging a battery of motor car, the following effect of electric current is used

2408338
TR HR F 9t B 96 B & 77, fagga v’ & Fefarea & 9§ fom uve o1 Iuam gl g
Magnetic
A
T
Heating
B
i
Chemical
C
ITafe
Induction
D
R

Correct Ans : C

Subject : Physics I

Q.No: 74 The mass of ions deposited during a given interval of time in the process of electrolysis depends on
2408339

fegd Iuded & ERF, 33 T THa SRTa H, ST g S T Goawe R FRar g -

The current

A

YRT

The resistance
B

yfeRy

The temperature
C

GIELIE]

The electric power
D

fagga =fea
Correct Ans : A

Subject : Physics I

Q.No: 75 A current carrying loop is placed in a uniform magnetic field. The torque acting on it does not depend upon.
2408444

TF YRT I8 qU (PYC P qU) B THTAM ey &85 B 3@ 91T 31 $9 R o a1 ol o, PRk e, sxar s ;9w
Shape of the loop.

Gekafican

Area of the loop.

T BT AR

C Value of the current



YRT BT HIA

Magnetic field.

TP &
Correct Ans : A

Subject : Physics I

Q.No: 76  Unit of magnetic flux density (or magnetic induction) is -

2408515
TG TR TG (A1 TS IRVT) B 5T © -
Tesla

A
Tesla (39a)
Coulomb

B
Coulomb (F@TH)
Watt/metre

C
Watt/metre (auﬁ'/lﬂ?\')
Ampere

D
Ampere (TRITTR)

Correct Ans : A

Subject : Physics I

Q.No: 77 The effective length of a magnet is 31.4 cm and its pole strength is 0.8 Am. The magnetic moment, if

2408516 1t 15 bent in the form of a semicircless ... Am?

TFEE © T wEas 314 @ AR e g7 aear 0.8 Am. SEHT GRS ATEN O SEeET
G R 79 & A5 BT I @ F Am?

1.6

1.6
1.2

1.2
0.16

0.16
0.12

0.12
Correct Ans : C

Subject : Physics I

Q.No: 78 Two thin long parallel wires separated by a distance b are carrying a current ‘I’ A each. The magnitude of the force per unit length exerted by one wire on the other is
2408526

2l yqe T FAMIR dR, S 6 T g ¥ b’ g8 W B, RFH R i 98 38 8, U H:1 U dR gRI, G W T dTel 9 T GRHT0N Ui 3ebTS s i -

A Hoi?
b2




Hoi®

Hni2
2mnb

Hni2
2mb

Ui
2mb

Ui
2nb

Hoi
2nb?

ol
2nb?

Correct Ans : B

Subject : Physics I

Q.No: 79 A conducting circular loop of radius ‘r’ carries constant current i. It is placed in a uniform magnetic field B. such that B is perpendicular to the plane of the loop. The
2408527 magnetic force acting on the loop is

e 1ad g o, et Bear ' 7, § RR 4R | 98 38 8! 39 39 USR ThHH Jradid &7 ‘B B 3@ oIl € {5 ‘B’ U F 9 S aaq ! TS § ol U R Y P18, TB 8 -

B
2mriB

2mriB

Zero

miriB

mriB
Correct Ans : C

Subject : Physics I

Q.No: 80 A straight wire carrying current I is made into a circular loop. If m is the magnetic moment associated with the loop. Then the length of the wire is
2408531

U JeilbR U H, T Wiem IR R 1 4RT 98 6T 8, TR0 Sl 21 TS qU F WY ST D 310 M 7, A IR $) TS 8-

4mm



[3%]
~|3
=

3

ak

3

3

21

Correct Ans : A

Subject : Physics I

Q.No: 81 A small circular flexible loop of wire of radius r carries a current I. It is placed in a uniform magnetic field B. The tension in the loop will be doubled it
2408532

& Bl qUIHR Tl dR &1 qU, e B r ok, S uRT 1 58 E 81 396! U6 Thar TEag 89 B B a1 o1dT 81 U & o1 SR 81 <, afe

Iis doubled.
A

IGNATRI

B is halved.
B

B 3TeT 1

r is doubled.
C

r QT 3

Both B and I are doubled
D

3T B 3R I R g
Correct Ans : A

Subject : Physics I

Q.No: 82 The resistance of an ideal ammeter is:

2409033
T 3Rl THIeR F1 Uk B §
Infinite
A
3
Very high
B
9ggd 3=
Small



Zero

A
Correct Ans : D

Subject : Physics I

Q.No: 83 In the wheatstone bridge shown below. In order to balance the bridge, we must have
2409059

R =30;R:=30Q

A
R=30:R:=30Q
R=6Q:F;=15Q
B
R=6Q:R;=15Q
R; =1.5 Q; Ry = any finite value
C
R; =1.5 Q; Ry = any finite value
R; =3 Q; R; = any finite value
D

R; =3 Q; By = any finite value

Correct Ans : D

Subject : Physics I

Q.No: 84 Three sound waves of equal amplitudes have frequencies (n — 1), n, (n + 1). They superimpose to give beats. The number of beats produced per second will be:
2409868

i e a9 RS emam g smaR/f (n - 1), n, (n + 1) T1 T ARV SR ey IT- Bl § TP IHs & Iad gH arelt dic &) e §:

1
A

1

4
B



C
3
2
D
2

Correct Ans : D

Subject : Physics I

Q.No: 85 Maximum number of beats frequency heard by a human being is-

2409869
TS GRI G S arelt e die g 8-
10
A
10
4
B
4
20
C
20
6
D
6

Correct Ans : A

Subject : Physics I

Q.No: 86 Doppler shift in frequency does not depend upon-

2409915

Imgfa B SR Re, R 78 ovar ¥

The frequency of the wave produced
A

I F areft ¥ Bt amgfRy

The velocity of the resource
B

AT BT AT

The velocity of the observer
C

Y& BT I

Distance from the source to the listener
D

A & T T e & B g

Correct Ans : D

Subject : Physics I

.No: 87 . . . . .
24009923 A whistle sends out 256 waves in a second. If the whistle approaches the observer with velocity %

ofthe velocity of sound in air, the number of waves per second the observer will receive.

T WE U AFUS A 256 O T A g, AfG W, JaTh F R gar A eafe
F AT H AT F Tk ¢, o FeTF @RI I, TF AFvs A o f e ¢

A 384



384

192
B

192

300
C

300

200
D

200

Correct Ans : A

Subject : Physics I

(224'\:)(;98284 A train is moving on a straight track with speed 20 ms™'. It is blowing its whistle at the

frequencyof 1000 Hz . The percentage change in the frequency heardby a person standing near
the track as the train passes him is- (speed of sound = 320 ms'!) close to:

T YRS U A I W20 AVE FT 9 F 9 W &1 TE 1000 FE H Al
T D T W U ufFd S T T TS F 9 TT @ (SR A e IR
W@ 8) carT Gell el arell 3gfcd A iderd sgona. fhas @9 8- (Lafel 1 gl =
320 #IA)

6%

6%

12%

12%

18%

18%

24%

24%

Correct Ans : B

Subject : Physics I

QNo: 89 A car moving at a velocity of 17 ms™ towards an approaching bus that blows a horn at a
2409925 frequency of 640 Hz on a straight track The frequency of this hom appears to be 680 Hz to the

car driver. If the velocity of sound in air is 340 ms™!, then velocity of the approaching bus is-

wF F O I W, 17 WA F AT F I3ER A I g aw A Rar F @@ W@
6 g aoe § 640 FTol AR HI FW F AR B F A Igied 680 FTol Toiid el 2
afg gar # @ &1 397 340 HUAL g Al g5 a9 W aw -

2ms!



2ms

4ms1
B

4ms!

8ms!
C

8 ms!

10 ms™!
D

10 ms!

Correct Ans : B

Subject : Physics I

(22‘-"\“)‘;99209 A train is moving with a uniform speed 0f 33 m/s and an observer is approaching the train with
the same speed. If the train blows a whistle of frequency 1000 Hz and the velocity of soundis 333

m/s, then the apparent frequency of the sound that the observer hears is-

T YIS, UREA OTel 33 AL @ 3R U Yatd LeRmEr fT e 38 O § e
W@ &1 A WEE 1000 ool #r Imafea & W ok § AR wafdr @ Qe 333 WAL
g, o wafd & vee sgfca St et gedr o-

1220 Hz
A

1220 geo

1099 Hz
B

1099 gest

1110 Hz
C

1110 g

1200 Hz
D

1200 gest

Correct Ans : A

Subject : Physics I

Q.No: 91 A source of sound S is moving with a velocity of 50 m/'s towards a stationary observer. The
2409930 carver measures the frequency of the sourceas 1000 Hz. What will be the apparent frequency
of the source when it is moving away from the observer after crossing him? The velocity of

sound in the medium is 350 m's.

oF @ # FEas, 50 WA F AT A oF PR daF H WE g9 @ g v
g@arr A, SF anl Fila A amEfca 1000 geSt §1 FHa #T wse dEfea F4T gem,
S dF 9T 9N A g 3WA X S T@T 2 (VO A A AAA § 350 ALAT)

750 Hz

750 gest

B 857 Hz



857 gl

1143 Hz
C

1143 geo

1333 Hz
D

1333 gedt

Correct Ans : A

Subject : Physics I

24%%99329 A source of sound of frequency 500 Hz is moving towards an observer with veloeity30 m/s.

The speed of sound is 330 m/s. The frequency heard by the observer will be-

wF @l # Ta, foadr smafcad 500 géat &, YaTeh # o’k 30 HA. F I F T
T &1 wafer Fr =mer 330 FAA. 1 Yare ganT g I smafea §-

550 Hz
A

550 g&o

458.3 Hz
B

458.3 g

530 Hz
c

530 g

545.5 Hz
D

545.5 g

Correct Ans : A

Subject : Physics I

Q.No: 93

5409940 A whistle of frequency 500 Hz tied to the end of a string oflength 1.2 m revolves at 400 rev/min.

A listener standing some distance away in the plane of rotation of whistle hears frequencies in
the range- (speed of sound = 340 m/s)

s W@, S smafca s00 gt & w12 3 ofars Fr g F sifoer Ry @ e
&ar Shar . a8 400 HUE/F. W AT §1 UH FeAer aren cafed (Saieh) S R e
& gUld & dd A O gl W @ ¢, §1 Igicd 57 & & goaar §- (eafa $1 e
= 340 #JA)

436 to 586 Hz

A
436 to 586 Hz
426 to 574

B
426 to 574
426 to 584

C
426 to 584
436 to 674

D

436 to 674



Correct Ans : A

Subject : Physics I

Q.No: 94 The time period of the magnet in the oscillating magnetometer is 2 seconds, if the magnetic moment of the second magnet is four times, then what will be the time
2746638 period compared to the first magnet?

BT TEHEHTG H GRS BT MGAHTT 2 I$5S Tl § UG g0 I BT o1 el IR AT 8, O Saciemra ToH Tad 3 gl J 1 g2

1 second
A

195

4 second
B

4 dFs

8 second
C

8 AFS

0.5 second
D

0.5 ¥&s

Correct Ans : A

Subject : Physics I

Q.No: 95 1If a bar magnet of magnetic moment M is placed in a magnetic field of intensity B, then what will be the torque acting on it?
2746639

TF TS TS s TEHI Ui M B, B iadl & geaig &8 & a1 €, o S9 W @ arar 9o 3ol 341 g

M+B
Correct Ans : C

Subject : Physics I

Q.No: 96  What is the force between two charges q,and q, according to Coulomb's law?

2746640
ot & [T o TR &1 TR q; 3 qp & oI o9y fel afet ohl=i-a17 &7
Pk
2
A
F=kt
=
B re
F=k



%9z
F=kio
r*q.
C
F=ko
rq;
Foidl
2
D
Pl

Correct Ans : D

Subject : Physics I

Q.No: 97 When an object is connected to the earth, there is a flow of electrons from the earth into the body. This means the body is-
2746648

S et aeg @Bt gl & et o A et @ ag B 3R AT BT UaTE Bl 3 ISTHT dred 3 b a-

uncharged
A
TR §
charged positively
B
SR &
charged negatively
C
HUTARE §
an insulator
D

FATAD &
Correct Ans : B

Subject : Physics I

Q.No: 98 The total electric flux through a closed surface (S) enclosed by charge (q) is equal to:

2746649

AT (q) ¥ R TF &< g (S) F A A o fIggd vaTe fhad SRR 7:

qeso
A

qeso

qeq’!
B

qeq’!

so/qr
C

go/qr

q'en
D

q'en

Correct Ans : D

Subject : Physics I



Q.No: 99 Which of the following statements about the magnitude of charge is correct?
2928985

I F aRAT & IR # Fafifed 3§ 8 B 91 $UF 96 87

Charge always has a direction.

A

I Bt g v R g 3

Charge is always positive.
B

A WG LTS ST B

Charge can be either positive or negative.
(o}

ST T A YT T FHUNHS §Y THl g

Charge is measured in units of kilograms.
D

AT F fpadumm Bt ge1gal § A19T S 21
Correct Ans : C

Subject : Physics I

Q.No: 100 What does the tangent to a magnetic field line at a given point represent?
2928988

fopeft fow 7w foig R ety & Y P Tt Y @ g 82

Electric field strength

A

fagga &= &t a1wa

Magnetic field strength
B

qaaT & 3T A

Direction of the net magnetic field
C

¢ guetg 7 @1 =

Direction of the net electric field
D

e fagya &= &1 famm

Correct Ans : C

Subject : Physics I
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Q.No: 1  Calculate the energy equivalent of 2 g of substance:
2407273

et & 2 T F TSR Sl BT TUAT B
18x10"J

18x10"%J

19x10%J

19%10%.J
27x10%J

27x10°J
36x10°J

36x10°J

Correct Ans : A

Subject : Chemistry

24'\(‘)07:2274 Calculate the mars of 8 neutrons in 8160 nuclei.
8160 ATMF A 8 I & FIA HT IV FI
8.06928u

A
8.06928u
2.01732u

B
2.01732u
3.02598u

C
3.02598u
0.0044u

D
0.0044u

Correct Ans : A

Subject : Chemistry

.No: 3 . .
2407615 Unit of rate constant for zero® order reaction
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R FIfe BT siftiferan & e R RRIF 31 3978

sec!
A
sec!
mol I-sec!
B
mol I-sec!
mol-l sec!
C
mol-l sec!
sec
D
sec?

Correct Ans : B

Subject : Chemistry

Q.No: 4 In Galvanic cells, the chemical energy of redox reaction is converted into electrical work while in electrolytic cell, electrical energy is used to carry out a
2407616 redox reaction.

Aafre Bl F, Yeie siftfsan @ IRmafe FHol fagad @ & uRafdd gid § S saagiarsice 9o H, fgqd Hol &1 9w YsTey siftifiar &3 & forg foban sman 81
non- spontaneous, non-spontaneous
A
wa: safdd, wa: vafda
non- spontaneous, spontaneous
B
wa: smafdd, wa: vafdd
spontaneous, spontaneous
C
d: L‘Iﬂﬁﬁ, d: vafdd
spontaneous, non-spontaneous
D

qq: yafdd, w@d: svafda
Correct Ans : D

Subject : Chemistry

Q.No: 5 YWVhat is true regarding to given equation?

2407617
Zn [.5]+Cu‘ (ag.] —Zn" [aq.]+ Cu [5}
6] Cu"+2¢ —Cu (.5'} is reduction half reaction.
(i) Cu""+2e¢ —>Cu(s) is oxidation half reaction.
(i) Zn(s)— Zn"" +2e is oxidation half reaction.

(iv) Zn (.5') — Zn*" +2¢" is reduction half reaction.



few 71T gt oT S Seu H FAr ac 87

Zn (.5)+CmJ (aq.) —Zn’ (aq}+ Cu (.s)

)] Cu™ +2¢ —>Cu (.s) i st afatrar g
(i) Cu™" +2¢ — Cu(s) YSaa sred-H@aTRaT
i) Zn(s)—>Zn"" +2e Yslaw weafafEarg
(v) Zn(s)—> Zn'" +2e” \SToa el HATRATRI

Only (i) is true

A

»ad (i) IT @

Only (ii) is true
B

Faa (i) TA T

Both (i) and (iii) are true
C

T (i) 3R (i) T &

Both (ii) and (iv) are true
D

S (i) 3R (iv) g &
Correct Ans : C

Subject : Chemistry

Q.No: 6  The flow of current due to movement of is called electrolytic conduction, and the phenomenon to bring about electrolysis is called

2407631

P T F PR YRT S GdIE ! Selde elzieeh dTei Bel oIl 8, 3R Seide feiRig B &I el Bl EREIEE

atoms, electrical bath

A
Ty, faggd |
molecules, electrolytic cell
B
3, gATGIaTgie® Hel
anions, electrical bath
C
3, fagga =
ions, electrolytic cell
D

3T, SATCIATgied A
Correct Ans : D

Subject : Chemistry

Q.No: 7 2 - \ .
2407650 In corrosion of iron, the site where reaction Fe— Fe™ +2¢ (Eg; = 0.44F ) takes placesis called

which where reaction O, +4H +4e” — 2H,0 (E:m_ = 1.23?.] takes place is called .

A & #7707 37 o1 T W ATAFHT Fe — Fe™* +2¢ (Eg, = 0447 ) ST 380 T

ST & I STt AT O, +4H " +4¢” - 2H,0(E,, =123V ) @ & 38 FEA T

Anodes, Cathodes

wHisw, Fuew

B Anodes, anodes



THigH, TieH

Cathodes, cathodes

FUgw, FUgH

Cathodes, anodes

Correct Ans : A

Subject : Chemistry

Q.No: 8  When glass is heated, it softens and then starts flowing without undergoing any abrupt change from solid to liquid state, is the example of
2407958
I. Crystalline Solids

II. Amorphous solid

S BT B T fHaT a7, @ 98 RA 8 1l @ SR R o1 & TR srawt # {1 bt s uRad & 98 @ 8, 98 BT IR 31
1. foreea 3
I1. 3SR 3

Only I

Fad 1
Both (I) and (II)

(1) 3N (11) Y
Only II

Had II

Neither I nor I1

AA RIS I

Correct Ans : C

Subject : Chemistry

Q.No: 9 Substances which show the same properties in all directions are said to be isotropic, while substances exhibiting directional differences in properties are termed
2407959 anisotropic. Which among the following will show anisotropy?

q gerd o Tt femmelt & T 1T vefRfd Ra ¥, THSRIG Hean 7, e un # e iR yeiid B o yerd e wean 71 Fuftied # ¥ B sifiend feamem?

Glass
A
T
Barium chloride
B
I wRTSS
Wood
C
g8
Paper
D
TR

Correct Ans : A

Subject : Chemistry



Q.No: 10
2408866

K3[Fe(CN)glis —

(a) Potassium hexacynoferrous (III)
(b) Potassium hexacynoferrate (III)
(c) Potassium ferricyanide

(d) Hexa cyno ferrate (III) potassium
Correct answer is —

K;[Fe(CN)g] T Bl &-

(a) AreTIRET GRATETE=IGE (11D)
Eg qiefarae feraT |- e (1)
(d) gtefire Simmss

BeraT = e () dtefaee

TET 3ol -

Only (a) and (b)

&ad (a) a7 (b)
Only (b) and (c)

Fad (b) TUT (c)
Only (a) and (c)

&ad (a) 94T ()
Only (b) and (d)

Had (b) TUT (d)

Correct Ans : B

Subject : Chemistry

Q.No: 11
2408871

Which of the following statement is incorrect about [Fe(HpO)sNO]SO4 —

[Fe(H,0):NO]SO, & a{ # HI=HT HYU=T AT -

It gives brown ring test for nitrates

Tg T5ee ¥ A1y YR g wharr 3T ¥

Oxidation state of Fe is + 1

Fe B} SATRIIHROT SawAT +1 8

It exhibits geometrical isomerism

g SfHdt wwTagedr gt &

Charge on NO is +1

NO W 3% +1 8

Correct Ans : C

Subject : Chemistry

Q.No: 12
2408981

Which of the following ligands is not a chelating agent?

Frofafed & & S forfivs, fde FRS 781 & -
EDTA

EDTA

Ethylene diamine (en)



FUTSER STS T (en)

Oxalate
C

Side

Pyridine
D

e

Correct Ans : D

Subject : Chemistry

Q.No: 13 The oxidation number of platinum in [Pt(NHz)5 C1]Cl3 is—

2408983
[Pt(NH3)5 CIICl; & corfeata $1 3iadieor aEan s -
2
A
2
3
B
3
4
(o}
4
6
D
6

Correct Ans : C

Subject : Chemistry

Q.No: 14 Carnalite is a mineral of

2409067
Frarse feww @ 32
Ca
A
Ca
Na
B
Na
Mg
C
Mg
Zn
D
Zn

Correct Ans : C

Subject : Chemistry

Q.No: 15

3409069 Extraction of silver from Ag,S by the use of sodium cvanide is an example of

HITSTH ATATES S 3T 5141 AgoS & Read #1 et g=gon -

A roasting



FcE]

hydrometallurgy

B
et g
electrometallurgy
C
forgga urged
smelting
D
LUGE]

Correct Ans : B

Subject : Chemistry

Q.No: 16 Gilver may be obtained by Ag,S —
2409075 -

TEeaT T Ag,S FTET 919 TaaT T 75haT &~

Reduction of Ag,S by (Zn + HCI)

A
(Zn + HCI) 3 ST Ag,S T s¥a=ra+
By melting Ag,S with NaCl
B
MaCl % &7 Ag,S & = 1T
Ag,S treated with NaCN then add zinc powder
C
Ag,S FTNaCN & a7e AT<Fd HrHe S 90 (Hearsarg
Reduction of Ag,S by (Zn + HCl)
D

(Zn+ HCI) F 31T Ag, S T F=a=

Correct Ans : C

Subject : Chemistry

Q.No: 17 In DNA, hydrogen bonds are formed between :
2409327

e ¥, gregior ais fhue 9 §9d §?

Adenine and thymine

A
VS Ut g
Thymine and uracil
B
T TUT R
Guanine and thymine
C
T qUT YIS
Cytosine and thymine
D

TSI quUT >3
Correct Ans : A

Subject : Chemistry



Q.No: 18 Protein is not present in:

2409329
Frafifed & & frad i =& 82
Nail
A
g
Hair
B
ClG)
Wool
C
&
DNA
D
DNA

Correct Ans : D

Subject : Chemistry

Q.No: 19 Orlon is formed by polymerisation of:
2409361

it Fofifad & @ frw e & sgasiese § 7@ 3

Vinyl chloride
A

ELEEERINEE]

Tetrafluoroethylene
B

FeTrgiRTRe

Acerylonitrile
(o}

NESIRECEs]

Styrene
D

wEHA

Correct Ans : C

Subject : Chemistry

Q.No: 20 Which of the following is not a copolymer?
2409364

frafafad & @ S TF SHega® Tel 8?2

Buna-S

T-s

Cellulose

Agara

Protein

WA

nucleic acid



gfeas ot
Correct Ans : B

Subject : Chemistry

Q.No: 21 Bakelite is made from phenol and formaldehyde. The initial reaction between them is the example of:
2409402

Fparse fpAla qur BiffcserEs J o1 81 a1 Al # URM siftifban Fa &1 e 8-
Electrophilic aromatic substitution
A
T W TR wferwaoT
Nucleophilic aromatic substitution
B
T Wt WS wfeme
Free radical raction
C
T A WS wfrwme
Aldol reaction
D

wesTa sifufssar
Correct Ans : A

Subject : Chemistry

Q.No: 22 CHZZCHZ Op/Ag A H™ /Hz20 B-

2409403
Using compound B, a group of the following polymers can be synthesized :
CH,=CH, —92/%2 ,p W /H20 ,g-
i B T IUAN HR FEfifad oimR & te U & axafd fear
S Bl §
Terylene, glyptal
A
el TegE
Nylon-66, dacron
B
AAAT-66, B
Dacron, nylon-6
C
3w, -6
Thiokol, buna-S
D

R, gA1-S
Correct Ans : A

Subject : Chemistry

Q.No: 23 Chlorination of toluene in the presence of light and heat followed by treatment with aqueous NaOH gives:
2409467

T & TP U1 A P SURIRY F TG (toluene) F FARIFIGRU F U I<TE B STl NaOH & 1 f35aT gRT Sare; W il 2

o-Cresol

o-fipuTar

B p-Cresol



p-fraia

2, 4-Dihydroxy toluene

2, 4- ST3ETgSIRI eIgs (Dihydroxy toluene)

Benzoic acid

delig® ot
Correct Ans : D

Subject : Chemistry

Q.No: 24 What type of compound form by the reaction of diazomethane at methyl ethylene?
2409543

DY Tfiel R STEUSIAYA @t fhar § frd UeR &1 At a1 82

Saturated acylic

A
Aqw S
Saturated homocyclic
B
T T
Homocyclic aromatic
C
TSI WAfes
Unsaturated homocyclic
D

ST THIDP I
Correct Ans : B

Subject : Chemistry

Q.No: 25 Which of the following compound are not used in the “Oxo reaction” of olefins?
2409546

SMfafte @t o sififiran /g fra & & forads sifofaa w A &1 v fosan s @2

HCHO
A
HCHO
co
B
co
COH
C
COH
Hz
D
H,

2

Correct Ans : A

Subject : Chemistry

Q.No: 26

, x — 5
3409548 Which compound is formed by the oxidation of SeD, on ethyl ethylene 7 .



Tfere TR 7 w0 SeO, ST F0 T N ZAT 2 ?

2-butene-1-ol

A
2-ggfe-1-3ifa
3-butene-2-ol
B
3-ggfest-2-3ifa
1-butnen-1-ol
C
1-gfed-1-3ifa
3-butene-1-ol
D

3-ggfei-1-3ifa
Correct Ans : B

Subject : Chemistry

Q.No: 27 Which of the following reagent converts the propene to 1-propanol?
2409550

B 3ifiiehees i &) 1-MiHTe & Saet Gebal 82

H,0. H,S0,
A
H,0, H,S0,
aqueous KOH
B
STeid KOH
MgS0,, NaBH,/H,0
C
MgS0,, NaBH,/H,0
BH.. H,0,, OH—
D

BH, H,0, OH-

Correct Ans : D

Subject : Chemistry

Q.No: 28 The formula of iodine acetate is -

2409617
HEEH Wi T YA AT -
[(CH3COO0)

A
I{(CH3C00)
I(CH3CO0);

B
I(CH3C00)3
I5(CH3C00)

C

I,(CH3COO)



(CH3CO0)I

(CH3CO0)I

Correct Ans : B

Subject : Chemistry

Q.No: 29 A greenish yellow gas reacts with an alkali metal hydroxide to form a halate which can be used in fire works and safety matches. The gas and halides respectively are -
2409619

TS R WA T B T ger u1g Treg)-sifaes I sifiifar R ¥de S 7 S enfiwiarsh qut ARk e & Sud & ot B, A awr ¥de wAw: § -

Bry. KBrOs
A

Bry. KBrOg

Clp. KClOg
B

Clp. KClO3

I7. NalO3
C

I, NalOg

Clp, NaClO3
D

Clp, NaClOg

Correct Ans : B

Subject : Chemistry

Q.No: 30 Which of the following ions in solution undergo disproportionation?

2409683
0 & I BH-u1 s foea # fawdiewor siftifsar awifan 3-
Fet2
A
Fe2
cr3
B
cr3
Cu
C
Cu™
Zn*2
D
Zn*2

Correct Ans : C
Subject : Chemistry

Q.No: 31 Calomel is-
2409684

FAma ¢ -
A HgpCly + Hg



HgyClp + Hg

HgClo
B
HgCly
Hg + HeCly
C
Hg + HgCly
HgrCly
D
HgyClp

Correct Ans : D

Subject : Chemistry

Q.No: 32 Formula of chromyl chloride is-

2409685
P FARES BT 8-
CrOClp
A
CrOClp
CrO5Cl
B
CrO5ClI
CrO5Clp
C
CrO5Clp
(CrOCl)2
D
(CrOClj2

Correct Ans : C

Subject : Chemistry

Q.No: 33 The lanthanide contraction is responsible for the fact that -
2409710

ARATES Hpe by o SeRamdt 8-

Zr and Y have almost the same radius
A

Zr 9 Y $ T GAE B

Zr and Nb have similar oxidation state
B

Zr @ Nb Y U STl S/awi

Zr and Hf have almost the same radius
C

Zr T Hf 3 T J8E e

Zr and Zn have the same oxidation state
D

Zr 9 Zn B U ATRABIOT ST

Correct Ans : C



Subject : Chemistry

Q.No: 34 The basic character of the transition metal monoxide follows the order-
2409711

WeHHU UTd FFIRIES P &1 0N BT FE A 8-

VO > Cro > Ti0 > FeQ
A

VO > Cro > TiO > FeO

Cr0 > VO >FeO > Ti0
B

Cr0 > VO >FeO > Ti0

TiO > FeO > VO > CrO
C

TiO > FeO > VO > CrO

Ti0 > VO > Cr0 > FeO
D

TiO > VO = Cr0 = FeQ

Correct Ans : D

Subject : Chemistry

Q.No: 35 Which of the following is not a Bronsted acid?

2746301
a3 P fiws o T8 32
CH:NHF
A
CH;NHJ
CH;CO0-
B
CH;CO0-
H.0
c
H.0
HSOZ
D
HSOy

Correct Ans : B

Subject : Chemistry

Q.No: 36 The pH of 0.001 molar solution of HCI will be-
2746302

0.001 HIeR HCI faer= &7 pH ghT-

0.001
A
0.001
3
B
3



2
Correct Ans : B

Subject : Chemistry

Q.No: 37 The colour discharge tubes for advertisement mainly contain which of the following gases?
2746369

o & fore v Wi el Aferet & Pofafed & & oF-d 9 9 &2

Argon
A

IUE ]

Neon
B

frata

Helium
C

Rftrm

Xenon
D

LIS

Correct Ans : B

Subject : Chemistry

Q.No: 38 Which of the following noble gas does not have an octet of electrons in its outermost shells?
2746370

Frofiied ¥ f5a Iy 19 F S S & sAaeH! BT 4FF et 37

Neon
A

et

Radon
B

¥

Argon
C

T

Helium
D

Rftrw

Correct Ans : D

Subject : Chemistry

Q.No: 39 Which type of bond is present in hydrocarbons?

2929025
TIESIBIEA B 5y PR &1 4 ST 8?2
Ionic bond

A
Eipiscac s

B Covalent bond



AEHASTD FUT
Metallic bond
uifde® de
Hydrogen bond
ESIEEEUE |

Correct Ans : B

Subject : Chemistry

Q.No: 40 Which of the following is a homologous series of organic compounds?
2929027

ol & & $F W FeHE AR B TH THeTd Y@ 32

Alcohols
A

IR

Acids
B

3

Bases
C

&R

Salts
D

THE

Correct Ans : A

Subject : Chemistry

Q.No: 41 What is the position of secondary consumers in tropical level of food chain?
2403394

TTey R & Uit R H fcha Susiiaarett @t fRufa @ 32

Fourth
A

i

Third
B

T

Second
C

<

First
D

vgdar

Correct Ans : B

Subject : General Studies

Q.No: 42 “Jhulan Goswami’ is associated with which of the following sport?
2403440

‘e TRt efied § ¥ fra 99 3 et 82

A Football



Pcdrd

Cricket
B
e
Tennis
C
k|
Badminton
D
Ysfies

Correct Ans : B

Subject : General Studies

Q.No: 43 Consider the rivers:
2407799

1. Parvati

2. Kali Sindh

3. Shipra

4. Gambhir

Which of the following rivers flows through Malwa Plateau?

et W AR #R:

1. e

2. a1l Riy

3. férm

4. TR

iR & § $F ¢ 7 oo TR F §R Tt 22
Only 1, 2 and 3

Faa 1,233
Only 1,3 and 4

Fada 1, 334
Only 1, 2 and 4

Faa 1, 23R 4
All1,2,3and 4

a1, 2,33R4
Correct Ans : D

Subject : General Studies

Q.No: 44 Kumbh in Ujjain takes place when Jupiter enters in which of the following zodiac sign?
2407808

I B HY q9 BT § I geedfa IRkraw 3 Fefafed ¥ 3 frw iy § waw e 82

Virgo
A

i)

Aries
B

Ay

C Leo



Rie

Scorpio

EiEEg

Correct Ans : C

Subject : General Studies

Q.No: 45 Dhamoni Urs fair is held in April-May at Dhamoni in Sagar district at the shrine (Majhar) of:
2407810

YA I Aar efid-AE H IR Ra &y § frae) AR R S fhar ST 82

Yaqub Ali
A

g 3reft

Mastan Shah Vvali
B

T AE qait

Sulayman Khan
C

gaHE @

Ayyub Ahmed
D

3Yq 3fgHq
Correct Ans : B

Subject : General Studies

Q.No: 46 Madhya Pradesh is also known as the state.
2407812
T U B T & w0 H ot T S 2
Tobacco
A
daR
Cotton
B
PurH
Rice
C
EICGE
Soybean
D
A=

Correct Ans : D

Subject : General Studies

Q.No: 47 Since which year has MPIDC (Madhya Pradesh Industrial Development Corporation Ltd.) been established?
2407820

.o S, (Hem v e sy i fafies) it o fbg 9 @ g€ @2
2004

2004
B 2008



2008

2012
C

2012

2016
D

2016

Correct Ans : A

Subject : General Studies

Q.No: 48 In which year was the M.P. State Women’s Hockey Academy established in Gwalior?
2407826

g atf Tarferer o ww.dt. s wigen giet srpret @t wTar 31 W e

2000
A

2000

2002
B

2002

2004
C

2004

2006
D

2006

Correct Ans : D

Subject : General Studies

Q.No: 49 From which city the 1857 rebellion of India started?

2407838
1857 ¥ fI5ig &) Yoad YR & fra 2eR I g3 @
Jhansi
A
it
Meerut
B
RS
Delhi
C
et
Surat
D
S

Correct Ans : B

Subject : General Studies

Q.No: 50 Which of the following rulers were descendant of Genghis Khan?
2407839

fFofafed & S $H-I1 IS S WH BT I UT?

A Lodi



it

Tughluqgs
B

LUGED

Mughals
C

qma

Rajput
D

Xrergd

Correct Ans : C

Subject : General Studies

Q.No: 51 Who was the first home minister of Independent India?

2408012
WA HRA & g T8 Tl B A7
Sardar Vallabhbhai Patel
A
TRGR TETHHTS T
C.D. Deshmukh
B
. & Tme
B.R. Ambedkar
C
3R, sFsH
Maulana Abul Kalam Azad
D

W g BATH TG
Correct Ans : A

Subject : General Studies

Q.No: 52 , was the birthplace of the Central Reserve Police Force (CRPF) in 1939 and is home to a large scale army recruitment centre for the organisation.
2941131

, 1939 ¥ $=<itg Reid gferd oat (FRATE) BT TR T 3R T8 W13 $ U 8 IR R 1 Uil Fg FT R B

Neemuch
A

=

Sidhi
B

et

Guna
C

T

Katni
D

Pt

Correct Ans : A

Subject : General Studies

Q.No: 53 After the eventful Battle of Panipat in , Mahadji Scindia captured Gwalior.
2941132



_ #uriud Y el aer & a1e, Herest Riftrr ¥ @ifkeR W we B fomm Al

1778
A

1778

1761
B

1761

1793
C

1793

1782
D

1782

Correct Ans : B

Subject : General Studies

Q.No: 54 Cactus Garden Sailana is located in which district of Madhya Pradesh?
2941135

Foed M I T UeW & g ford #F R 12

Ratlam
A

RG]

Panna
B

qar

Raisen
C

I

Rajgarh
D

Xerle

Correct Ans : A

Subject : General Studies

Q.No: 55 What is the sex ratio of Madhya Pradesh As of census 2011?
2941136

2011 B SOFT F R Hed TR BT [Tua a7 82

942
A

942

931
B

931

919
C

919

964
D

964

Correct Ans : B

Subject : General Studies



Q.No: 56 ‘Dhrupad Kendra’ of Madhya Pradesh was established in which of the following year?
2941137

T YR 1 yue P Fefaed § § e af wafta faam ma are

1999
A

1999

1994
B

1994

1981
C

1981

1972
D

1972

Correct Ans : C

Subject : General Studies

Q.No: 57 Which of the following district of Madhya Pradesh is famous for Gotmar Mela?
2941139

e Yoy &1 EfiEd ¥ @ 1 a1 e Mear A & g vl 22

Chhindwara
A
fSaarst
Narmadapuram
B
Harg
Harda
C
wal
Khargone
D
Reruic

Correct Ans : A

Subject : General Studies

Q.No: 58 Dholawad dam is located in which of the following district of Madhya Pradesh?
2941142

aTaTe iy HeF UeR & e § ¥ 5 o § fud &2

Sagar
A

R

Sidhi
B

wish

Sehore
C

R

Ratlam
D

RGGIG)

Correct Ans : D



Subject : General Studies

Q.No: 59 1India’s second plant for processing opium and manufacture of alkaloids located in district of Madhya Pradesh.
2941144
T P TREREBRUT 3R Teaiigs d FHiU & 1T YR 1 gaRT G 781 Uy & o & R 31
Sehore
A
R
Neemuch
B
g
Balaghat
C
CIEIbIC
Gwalior
D
wIREAR

Correct Ans : B

Subject : General Studies

Q.No: 60 Where is the 'Lokrang Festival' held in Madhya Pradesh state?

2941156
T TR 59 H AHTT HEId’ Fe Mo fpar S 32
Indore
A
R
Bhopal
B
wurer
Jabalpur
C
SqTYY
Khajuraho
D
TR

Correct Ans : B

Subject : General Studies

Q.No: 61 The total energy of a circularly orbiting satellite is-

2405534
JABR HET IWE P F SHoil 3-
Twice the kinetic energy of the satellite
A
I9UE F e St B G T
Half the kinetic energy of the satellite
B
I Ft st et 3 aneh
Twice the potential energy of the satellite
C

Iure @t FRufer Foif 1 3

D Half the potential energy of the satellite



IuE o1 fRufow Fwf i ameft

Correct Ans : D

Subject : Physics I

Q.No: 62 Radius of orbit of satellite of earth is R. Its kinetic energy is proportional to-
2405535

& & IUTE & H& P BT R T THD! T Sl FHIFA 8-

1
R

~

-
:cﬂ|"'

-
:rﬂ|"'

[

Ra/2

1
R2/z

Correct Ans : A

Subject : Physics I

Q.No: 63 Swimming is possible on account of-

2405596
R THa B 39w -
First law of motion
A
qed &1 i &1 ugen
Second law of motion
B
e BT fa &1 guvT Frgw
Third law of motion
C
ge &1 Tfa &1 deRT
Newton’s law of gravitation
D

e BT ReaTHyul T fraq
Correct Ans : C

Subject : Physics I

Q.No: 64 Formula for true force is-
2405597

T §q % o g 3-

A F = ma



F = ma

dv
F==
dt
B
mdv
F =
dt
F= d{mv)
dt
C
F= d(mv)
dt
F— mdZx
di?
D
F= md?x
dt?

Correct Ans : C

Subject : Physics I

(22""\307:16356 An electronis revolving in the n™ orbit of radius 42A Thenthevalue of nis- (1;=0.529 A)

TF Soigcie, 4.2A Boar arel o IFaT F g W E, df a1 A g (n=0.5294)

4
A

4

5
B

5

6
C

6

3
D

3

Correct Ans : D

Subject : Physics I

(22""\307:16568 A 120 g mass has a velocity V=2i+ 5] m/scc at a certain instant. Its kinetic energy is-
TF 120 T & ZaAE & e amran V = 21 + 5] @A & sahrafae serd-
3]
A
3]
43
B
43
5]



5]

1.74]

1.74 ]
Correct Ans : D

Subject : Physics I

Q.No: 67

2407159 The momentum of a body is increased by 25%. The KE is increased by about-

U IUs T GAT 25% T FE AT § | ST Ao Tl I

Correct Ans : C

Subject : Physics 1

Q.No: 68 An electric bulb rated 220 V, 100 W is connected in series with another bulb rated 220 V, 600 W. If the voltage across the combination is 220V, the power consumed by
2408318 the 100W bulb will be about

& fIggd I ot & 220V, 100W B, F A0l 7 § T Ie@ 220V, 60W I Si$ a1 oI 31

IS T AN BT 220V Ao e T A 100W F §ed §RT ITANT Si TRf IR 39 T gift -
25W

25w

14W

14W

60w

60W

io0w

ioow
Correct Ans : B

Subject : Physics I

Q.No: 69 What is immaterial for an electric fuse wire
2408319

faega we aR & ol ar orf €1 (W &) B



Its specific resistance

A
a1 fafkre gforiy
Its radius
B
el B
Its length
C
T
Current flowing through it
D

T 989 arelt yRT
Correct Ans : C

Subject : Physics I

Q.No: 70 X rays when incident on a metal

2408327
X - s, ol et erg R usdl €
Exert a force on it.
A
TF 99 39 W AR 1
Transfer energy on it.
B
T W HoIl RN $a 1
Transfer pressure to it.
C
T W A9 AR ST 31
Exert force transfer energy and pressure.
D

€ A B, S 9 qaTd RIFER B 2
Correct Ans : D

Subject : Physics 1

Q.No: 71 The force between two parallel current carrying wires is independent of

2408445
S IR YURT 96 IR} P & @ AT 9, Wad el g, 59
Their distance of separation.
A
TP f19 1 g8
The length of the wires.
B
AR} B T
The magnitude of currents.
C
Y13t BT afHTOT
The radii of the wires.
D

IRl @t Bead
Correct Ans : D

Subject : Physics I

Q.No: 72 A circular coil having N turns is made from a wire L meter long. If a current of I ampere is passed through this coil suspended in a uniform magnetic field of B tesla, find
2408506 the maximum torque that can act on this coil.



N R aTeft U JPR Fuset L Hier T dR ¥ §91E TS 21 Ife B XA F UHuHH Jed i a7 B aifad 39 puseh F 1 TR $t uR1 vaifed ot Il 8, @ 59 $USH R B R G aralt

HfIeH §@ STl 1d BT

Directly proportional to N
A

N & THUTR

Inversely proportional to N
B

N & IawATIUTdT

Inversely proportional to N2
C

N2 & S HTATT

Independent of N
D

N ¥ T
Correct Ans : A

Subject : Physics I

Q.No: 73 A magnet of magnetic moment M and pole strength m is divided in two equal parts, then the magnetic moment of each part will be-
2408517

TH M g 3mgef ard grah, Rraat ya emdt m 8, &1 @ 99 yi § die far S @ & ude YR ST g el gnm -

M
A

M

M/2
B

M/2

M/4
C

M/4

2M
D

2M

Correct Ans : B

Subject : Physics I

Q.No: 74 The work done in turming a magnet of magnetic moment ‘M’ by an angle of 90° from the meridian is
2408518 .- fimes the corresponding work done to turn it through an angle of 60°, where *n” 1s given by

TH M FEEH EYT T gEEE E e ARGAA § 900 & FHOT W gAE A G
S e F W] 8. 306 9 600 W AR S ot fRT 6T @y & F co° T H1
&l 0’ & aUe o

1/2
A

1/2

2
B

2

1/4
c

1/4



1

Correct Ans : B
Subject : Physics I

Q.No: 75 If two streams of protons move parallel to each other in the same direction then they-
2408528

I IS BT & T (R b G & FHIAR, T 1 famn F =rercht 8, 1 A

Do not exert any force on each other.

A
TP G W B Iq T8 B
Repel each other.
B
T G B R Bt 3
Attract each other.
C
TH g B ATpia et B
Get rotated tube perpendicular to each other.
D

Tt el 2, R o g & wead §f ot 8

Correct Ans : B

Subject : Physics 1

Q.No: 76 A coil of 100 turns and area 210~ m?. Pivoted about a vertical dimeter in a uniform magnetic field

2408529 . ries a current of SA. When the coil is held with its plane in north- south direction it experiences
a torque of 0.3 Nm. When the plane is in east-west direction the torque 15 0.4 Nm. The value of
magnetic induction is (Neglect earth’s magnetic field).

T FUSE TSR 100 T (S+1) 3T ATeT 2x107 1 &, Teh Uaharerter Jrarehiey a7 T sa ardr ag
T, A SR CaRA & AT 92 Q1 §1 S 8 FUS o ol STR-G I e # 317eht §, 7 0.3 Nm
T el 1Tl ST B1 ST e O - T R 31 S 8, T 07 a9 0.4 N B IR SOT T A
& - (gt 1 Tkl 87 & 1o A= T 8)

0.2T

A
0.2T
0.3T

B
0.3T
0.4T

C
0.4T
0.05T

D
0.05T

Correct Ans : D
Subject : Physics I

Q.No: 77

3408533 Uniform magnetic field B 1s directed vertically upwards and 3 wires of equal length L. carrying

equal current I are lying in a horizontal plane such that the first one is along north, second one
along north-east and the third one at 60° north of east force exerted by magnetic field B on them
18,



e GAT GFhIT &7 B I FeaTer U & 3T AR frar = & 311X 3 ar fSaer ane e L
& ORT | A v Afaer a7 59 TR e 16 & o Teer 3ux frem 3 et §, gIR 3w - 99 g
FTdaT R AR g T 60° IT A Y| 51 ART A FFah T &7 B OR A1 ATl G o-

Zero on the first

A

TFd W

BIL

— on the second

V2
B

BIL

qgﬂi w 2

V3 == on the third
C

= BIL

V3 = dRT

BIL on all of them.
D

99 IR BIL
Correct Ans : D

Subject : Physics I

(22""\(‘)‘;57384 A magnetic needle suspended parallel to a magnetic field requires V3 J of work to turn it through
60°. The torque needed to maintain the needle in this position will be.
T T TS P T T &7 & FHIATAL AT ST &, SHBT 60° T GATN & o smaeas §
V31 S| SHE (FS &) SHT R F g 1@ & o 3maeas gote a9 -
2V37
A
2V37
3
B
3
\f’g J
o
\f§ J
=TI
D
=
2

Correct Ans : B

Subject : Physics I

Q.No: 79 Which one of the following is correct?
2409012

Frofefed & ¥ B9 1 By € 72

A An ammeter is a galvanometer connected with a low resistance in parallel.



e Tiier, a8 AwAnier €, R g wfekiy wamieR & g1 En

An ammeter is a galvanometer connected with a high resistance in parallel.

B

TP TR, 78 feaaifier 2, R o= ity awiar & g1 @

An ammeter is a galvanometer connected with a low resistance in series.
C

e gHte 98 fiea-iier 7, R fra uferty doft & ger 81

An ammeter is a galvanometer connected with a high resistance in series.
D

s TR g8 feaqier B, i g=r uidiy doft & ger @)

Correct Ans : A

Subject : Physics I

Q.No: 80 The magnitude of electric force experienced by a charge particle in an electric field depends on-

2409882
& faggd &7 B, Te SmaRId HU1 F gRT Mg fFY T faggd o1 ulkomg FRk e 3-
Charge of the particle
A
PO HT A
Velocity of the particle
B
F BT AT
Direction of the electric field
C
farqga &= 9 fa=m
Mass of the particle
D

U BT FHHAH
Correct Ans : A

Subject : Physics I

Q.No: 81 Two identical conducting spheres carrying different charges attract each other with a force F when placed in air medium at a distance ‘d’ apart. The sphere are brought
2409883 nto contact and then taken to their original positions. Now, the two spheres repel each other with a force whose magnitude is equal to that of the initial attractive force.
The ratio between initial charges on the spheres is:

3 THHHM IH M, g4 H, T g ¥ d g8 |, T 33 & 1Y U g &Y F 90 § SMHd H=d 81 M B T gER & GuH H 11 9rehl § 97RO § St areafaes fRufay wr dgan
fon ST 81 9@, & M Uh-gW &Y, TR Sopffd aa & aRomy & 90 oo I wfasfid d=a § Mo W URMAE S &1 SuTd 2:

—(3+ v/8) only
A
Fad —(3+/8)
-3+ +/Bonly
B
&ael —3 + /8
(3+vB)or (-3+v8)
c

(34 v8)or (-3 + v8)
+4/3



+4/3

Correct Ans : C

Subject : Physics 1

Q.No: 82

2409890 Two identical charges repel each other with a force equal to 10 mg wt when they are 0.6 m

apart in air (g= 10 ms?). The value of each charge is-

&l UHHAR A, gar # 0.6 AL H gl W TH gE H 10 mgwtd A Gl
A & (g=10ms?) TcAH AU F A &-

2mC
A
2mC
2nC
B
2nC
2% 107¢C
C
2% 107C
2uc
D
2uc

Correct Ans : D

Subject : Physics 1

(22":\3(;88931 A charge Q is divided into two parts of q and Q — q. If the coulomb repulsion between them

when they are separated is to be maxinmm, the ratio of % should be-

TF ALY QFN G T qIRQ-q A G I ST A g AT ar A
mm@mmmmm:mgmm_

2

Correct Ans : A

Subject : Physics I



Q.No: 84 A motor cycle starts from rest and accelerates along a straight path at 2m/s*. At the starting point of the

2409916 410 cvcle there is a stationary electric siren. How far has the motor cyvcle gone when the driver hears
the frequency of the siren at 94% of its value when the motor cvcle was at rest? (Speed of sound = 330
mst)

v HITT TSR 3R I U Gt & 3R S e & anr o el € 2 AR | Fey wsfee &
eIt fig ot v R safdees wrere plar | Atex arsfve o gy ol o & s e wreer
&Y 3T Tea 30F HeT & 94% TN oA § Sl AT Wigfber 3R 9F o7 (cafd v are = 330 ms?)

49 m
A

49 #t.

98 m
B

o8 #t.

147 m
C

147 #.

196 m
D

196 #1.

Correct Ans : B

Subject : Physics I

.No: 85 . . . . . .. .
2409917 A band plaving music at a frequency f is moving towards a wall at a speed V,. A motorist is following

the band with a speed V. If v be the speed of the sound, the expression for the beat frequency heard by
the motorist is:

vh d5 S f gfcd & GG g9 @ 8, UH SOR H OR_E V, 9F T @ &1 TH
Arerarsied arer §5 & 96T # @1 8, V. 9 1 3 «afd &1 a1 v§, ar 9T 3mafca =
Al AT arer Joram, & O vaRTvRe 8-

V+V,;
P f

2V (V+V,)
Vioy2

f

2V (V) f

VI

2 (VW)
Vi_y2

f

2V (V+Wi)
V2V

f

Correct Ans : C



Subject : Physics I

Q.No: 86  In p-decay, the nucleus emits-

2409918

B-&T2 &, A8 Icatoid il -

An electron
A

EREHE

A proton
B

e

A neutron
C

RCll

A positron
D

wiféreta

Correct Ans : A

Subject : Physics I

Q.No: 87 Doppler phenomena is related with-
2409926

Pitch (frequency)

A
o (amafn)
Loudness
B
SICSE]
Quality
C
FaTferdt
Reflection
D
WRIEAT

Correct Ans : A

Subject : Physics I

Q.No: 88 . . . . 1 .
2409927 A sound source is moving towards a stationary observer with o of the speed of sound. The matio of

apparent to real frequency is-

wmﬁﬂﬁﬁ.wwmaﬁmﬁwﬁaﬁaﬂﬁ%wﬁaﬂm%ﬂm
smafea @ R smafcd &1 s 8-

10

9
A

10

9
B 11

10



11
10

&

Correct Ans : A

Subject : Physics I

No: 89
24009931 A train approaches a stationary observer, the velocity of train bemg — oflhe velocity of sound. A

sharp blast is blown with the whistle of the engine at equal intervals. ofa second. The interval
between the successive blasts as heard by the observer is.

U YeEmEr Uk R et 1 R S @ §1 (RIS 1 Aer eafel & 9 P
T UFUE & S{E ad<lmwaﬁﬁaﬁr%ﬂ:mwmﬁﬁmm%‘l
UeTh @Rl el I ScaliceR UHRR & JHRTe §-

1
—s
20
A
g
20 "
1.
— min
20
B
1
20
19
20
(o}
19 &
20
10 min
20
D
10

20

Correct Ans : C

Subject : Physics I

Q.No: 90

2409932 A whistle giving out 450 Hz approaches a stationary observerofa speed of 33 m/s. The frequency heard

by the observer in Hz is-



e HET 450 gest H IGfcd A Fokd g4, TH TR YR o 33HA 6 Ee
F Terch &1 WaTh gaRT Gl ST arelr eate @ smafed gest 7 g

409
A

409

429
B

429

517
C

517

500
D

500

Correct Ans : D

Subject : Physics I

(22‘-"\(‘)‘;99411 A source and an observer move away from each other with a velocity of 10 m/s with respect to
ground. If the observer findsthe frequency of sound coming from the source as 1950 Hz _ then

actual frequency of the source is- (velocity of sound in air = 340 m/s )

T Fid 3R UF deTw Tk gEl ¥ 10 AR F 99 A gX S §. HiF F A Alg
Y&k FI WD F A arell Adfcd 1950gest A gl ¢, dl did & aredias Adicd
& (el o gar & & 99 = 340 WA

1950 Hz
A

1950 gedt

2068 Hz
B

2068 geo

2132 Hz
C

2132 gedt

2486 Hz
D

2486 TSt

Correct Ans : B

Subject : Physics I

2""\(‘,%99422 A source is moving towards observer with a speed of 20 m/s and having frequency 240 Hz. The

observer is now moving towards source with a speed of 20 m/s. apparent frequency heard by
observer, if velocity of sound is 340 m/s?

T Aid TR Igicd 24086 &, 20 FLA. FT T ¥ WaTE I B I 61 ol 39
Seleh FAIG AT Wb 20 HAA. H Gl ¥ I @ gl $eTH F GaWT Gl A5 TReC
smafca & (I @l & 9o 340 A

240 Hz

240 g

B 270 Hz



270 g

280 Hz
C

280 gedt

360 Hz
D

360 g

Correct Ans : B

Subject : Physics I

.No: 93 ) . . .
(2240(;956 A semiconductor has equal electron and hole concentration of 6 * 108 per m*. On doping with a

certain impurity, electron concentration increasesto 9 x 102 per m®. The new hole concentration
is-

U Igdrerh H TAR el 3R gel Tegal 6 x 103 9d AR 81 F& i Hoem
W ForFeld Tegdl SRt 9 x 1012 9fa# g S §1 e g Tewar &-

2 x 10* per m’
A

2 x 10* perm3

2 x 102 perm3
B

2 x 10? per m’

4 x 10* per m’®
c

4 x 10% per m’

4 x 10? perm3
D

4 x 107 perm3

Correct Ans : C

Subject : Physics I

Q.No: 94 Which of the following is the unit of absolute permittivity of air(s,)?
2746641

oot 1 & St arg T oRaaT faegeriied (g,) & 51 die-wr 87

C2N1m-=2
A

C2N-1 m-2

C3N-1 m-2
B

C3N-1tm™?

CN-1tm=2
C

CN-1m-2

D C2N2m!



C2N-2m!
Correct Ans : A

Subject : Physics I

Q.No: 95 Two charges 3.8 x 107° Cand 5 % 10° C, placed at a distmnce of 19 meters, will exert equal and
2746642 opposite forces on each other, what will be its magnitude?

Y338 x 1075 €3 5 x 108 €, 19 FIET FI U W W Y R T GHY W FAM J [0 aef
AU T enT GIHTOT =17 BIam?

0.43 N

0.43 g
47 N

47 A
4.7 N

4.7 [T
0.47 N

0.47 e
Correct Ans : D

Subject : Physics I

Q.No: 96

. 1
3746643 What is qu and what does £ means?

L g 3R g ST I 7

dmey

Itis Coulomb’s constant and £, is permittivity of free space

A
TG S i 2RI § 3R 2, A 37Tehrer 1 [aegasherar s
It is Charge’s constant and =, is permittivity of free space

B
a5 3TTaer & R 8 3R 2 T s $ Fegasfears
It is Current constant and £pis permittivity of free space

C
g IR T RO § 3R 2o Had TR & faegaeiior o
None of the given options

D

e e fawedl # & HIF T8Y
Correct Ans : A

Subject : Physics I

Q.No: 97 Which of the following is the SI unit of electric flux?
2746650

Fofiied # ¥ SH-91 faggd uate #t SI 56T 87
A N Clm?



NClm?

NCim?
B

NCim?

N Cm?
C

NCm?

NClm
D

NClm

Correct Ans : A

Subject : Physics I

Q.No: 98 When a glass rod is rubbed with silk, it

2746651

e B B TS B Ried Y TTST 91T 2 A Tg-

receive electrons from silk
A

e & gaag wTa SR

give electrons to the silk
B

e 3 geregi ol

receive protons from silk
C

e & Wier ura ¥

give proton to the silk
D

frew &Y wier &t
Correct Ans : B

Subject : Physics I

Q.No: 99 What is the defining characteristic of uniform circular motion?
2928990

THAM gt T 3 ol v 31 82

Variable speed along a circular path
A

AR TY W IRadia

Constant speed along a circular path
B

TAPR Y W fraa afa

Variable speed along a straight path
C

i I R Rt afa

Constant speed along a straight path
D

M T W e afa

Correct Ans : B

Subject : Physics 1

Q.No: 100 Why do cutting tools have sharp edges?
2928993



BIe & AWRI B PR TP 941 81 82

To decrease pressure

A
3 BH I F g
To increase friction
B
T wgm ¥ fRrg
To increase force per unit area (pressure)
C
v STE g (ar) 9gM S frg
None of the given options
D

T T fawedt & & oI5 T8
Correct Ans : C

Subject : Physics I



